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a) Rapporto tra totale incassato e totale accertato

a b c = (a) - (b)*(a) d e = (c) / (d) * 100 f

2014 1.511,73 #RIF! 0,00  €                   -   

2015 1.677,07 b 0,00  €                   -    % acc.to FCDE 

2016 � � 97,98%

2017 569,73 #RIF! 0,00  €                   -    Importo FCDE 

2018 0,00 75,93 

 €         3.758,53  TOTALI  €                75,93  €                   -   2,0200 €                    979,80 

b) Media semplice dati omogenei

a b c = (a) - (b)*(a) d e  = (c) / (d) * 100 f

previsione  ANNO 2020 euro 1000,00  X 97,98 X 100%  =  979,80
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